

Provided for non-commercial research and educational use.
Not for reproduction, distribution or commercial use.

Serdica

Mathematical Journal

Сердика

Математическо списание

The attached copy is furnished for non-commercial research and education use only.
Authors are permitted to post this version of the article to their personal websites or institutional repositories and to share with other researchers in the form of electronic reprints.
Other uses, including reproduction and distribution, or selling or licensing copies, or posting to third party websites are prohibited.

For further information on
Serdica Mathematical Journal
which is the new series of
Serdica Bulgaricae Mathematicae Publicationes
visit the website of the journal <http://www.math.bas.bg/~serdica>
or contact: Editorial Office
Serdica Mathematical Journal
Institute of Mathematics and Informatics
Bulgarian Academy of Sciences
Telephone: (+359-2)9792818, FAX:(+359-2)971-36-49
e-mail: serdica@math.bas.bg

AN ESTIMATION METHOD FOR THE RELIABILITY OF “CONSECUTIVE- k -OUT-OF- n SYSTEM”

Brahim Ksir, Slimane Bouhadjar

Communicated by S. T. Rachev

ABSTRACT. This paper is concerned with consecutive- k -out-of- n system in which all the components have the same q lifetime probability, so, it's possible to estimate q from a sample by using the maximum likelihood principle. In the reliability formula of the consecutive- k -out-of- n system appears the term q^k . The goal in this work is to propose a direct estimation of q^k to avoid the accumulated errors owed to the power. More precisely, we establish a new method based on the Markov chains to calculate and estimate the reliability of the system.

1. Introduction. A consecutive- k -out-of- n system is formed by n linearly components. This system fails if and only if there's at least k failed consecutive components, ($1 \leq k \leq n$). Until now, a great number of closed formulas, recursive and direct algorithms(cf. [1, 3, 6, 13]), limit formulas (cf. [2, 7, 8]) and

2010 *Mathematics Subject Classification*: 60K10, 60K20, 60J10, 60J20, 62G02, 62G05, 68M15, 62N05, 68M15.

Key words: Consecutive- k -out-of- n system, Likelihood estimation, Markov chains.

bounds (cf. [5, 10, 11]) for the reliability of linear and circular “consecutive- k -out-of- n : F systems” are established by use of methods from combinatorics and probability theory.

In the most articles dealing with the reliability of such systems, it is supposed that the lifetime probability q of a component is known, and it will be estimated by choosing a sample in the expression of the reliability R :

$$R = (1 - q^k) \left[1 - \frac{q^k(1 - q)}{1 - q^k} \right]^{n-k}.$$

We can conclude this formula, (cf. [1, 6, 13]), by supposing that all components of the system are independent and identically distributed.

In this formula we have the term q^k , so, a little gaps in the evaluation of q yields a great one in the evaluation of q^k and then in the estimation of R . For this reason we propose a new method based on the Markov chains. This can help us to estimate directly R with the q^k estimator rather the q estimator.

We Consider that the structure function of this system is given by

$$S_n = \min_{1 \leq i \leq n-k} \max_{i \leq j \leq i+k-1} X_j$$

where X_j is the state of the component j , $j = 1, \dots, n$.

We suppose that the components are independent and have the same distribution.

2. Notations. For $i = 1, \dots, n$:

$$X_i = \begin{cases} 0 & \text{if the component } i \text{ breaks down} \\ 1 & \text{if the component } i \text{ is working} \end{cases}$$

where $P(X_i = 0) = q$, $P(X_i = 1) = p = 1 - q$. Finally, let Z_k a sub-system with k components and $S_n = 1$ means that the system is working.

3. Results. Let the variables $Z_n = \max_{n \leq i \leq n+k-1} X_i$.

Theorem 1. *The process $(Z_n)_{n \geq 1}$ is a Markov chain.*

Proof. For all $n \geq 1$ and $z_n \in \{0, 1\}$, we must proof that,

$$P(Z_{n+1} = z_{n+1} / Z_1 = z_1, Z_2 = z_2, \dots, Z_n = z_n) = P(Z_{n+1} = z_{n+1} / Z_n = z_n).$$

1) If

$$A_n = Z_1 = z_1, Z_2 = z_2, \dots, Z_{n-1} = z_{n-1}, Z_n = 0,$$

then

$$\begin{aligned} P(Z_{n+1} = 1/A_n) &= \frac{1}{P(A_n)} \int_{[A_n]} 1_{[Z_{n+1}=1]} dp \\ &= \frac{1}{P(A_n)} \left(\int_{[A_n] \cap [X_n=0]} 1_{(Z_{n+1}=1)} dp + \int_{[A_n] \cap [X_n=1]} 1_{(Z_{n+1}=1)} dp \right) \\ P(Z_{n+1} = 1/A_n) &= \frac{\int_{[A_n] \cap [X_n=0]} 1_{(X_{n+k}=1)} dp}{P(A_n)} \\ &= \frac{1}{P(A_n)} \int_{[A_n]} 1_{(X_{n+k}=1)} dp. \end{aligned}$$

It is clear that the two events, $(X_{n+k} = 1)$ and A_n are independent. So

$$P(Z_{n+1} = 1/A_n) = \frac{P(Z_n = 0, X_{n+k} = 1)}{P(Z_n = 0)},$$

we have used the fact that $(Z_n = 0)$ and $(X_{n+k} = 1)$ are independent events. We can write:

$$\begin{aligned} (Z_n = 0, X_{n+k} = 1) &= \{Z_n = 0\} \cap \{X_{n+k} = 1\} \\ &= \{Z_n = 0\} \cap \{Z_{n+1} = 1\} \\ &= (Z_n = 0, Z_{n+1} = 1). \end{aligned}$$

Then,

$$P(Z_{n+1} = 1/A_n) = P(Z_{n+1} = 1/Z_n = 0).$$

In the same way we obtain:

$$P(Z_{n+1} = 0/A_n) = P(Z_{n+1} = 0/Z_n = 0).$$

Now, put $B_n = Z_1 = z_1, Z_2 = z_2, \dots, Z_{n-1} = z_{n-1}, Z_n = 1$. $C_{n-1} = X_1 = x_1, X_2 = x_2, \dots, X_{n-1} = x_{n-1}$. $D_{n,n-k+1} = X_n = 1, X_{n+1} = 0, \dots, X_{n+k-1} = 0$.

$$\begin{aligned}
 P(Z_{n+1} = 0/B_n) &= \frac{1}{P(B_n)} \int_{[B_n]} 1_{[Z_{n+1}=1]} dp \\
 &= \frac{1}{P(B_n)} \left(\int_{[B_n] \cap [X_n=0]} 1_{[Z_{n+1}=1]} dp + \int_{[B_n] \cap [X_n=1]} 1_{[Z_{n+1}=1]} dp \right) \\
 &= \frac{1}{P(B_n)} \int_{[B_n] \cap [X_n=1]} 1_{[\max(X_{n+1}, \dots, X_{n+k})=0]} dp \\
 &= \frac{1}{P(B_n)} \int_{[B_n] \cap [X_n=1]} 1_{[(X_{n+1}=0, \dots, X_{n+k}=0)]} dp \\
 &= \frac{1}{P(B_n)} \int_{[B_n] \cap [X_n=1] \cap [X_{n+1}=0, \dots, X_{n+k-1}=0]} 1_{[X_{n+k}=0]} dp \\
 &= \frac{P(B_n, D_{n;n-k+1}) \cdot P(X_{n+k} = 0)}{P(B_n)} \\
 &= \frac{P(C_{n-1}, D_{n;n-k+1}) \cdot P(X_{n+k} = 0)}{P(C_{n-1}, Z_n = 1)}
 \end{aligned}$$

It is clear that C_{n-1} and $D_{n,n-k+1}$ are two independent events, and so are the two events C_{n-1} and $(Z_n = 1)$. Then,

$$P(Z_{n+1} = 0/B_n) = \frac{P(D_{n,n-k+1})}{P(Z_n = 1)}.$$

We can write $(Z_n = 1, Z_{n+1} = 0)$ as:

$$\begin{aligned}
 (Z_n = 1, \max(X_{n+1}, \dots, X_{n+k}) = 0) &= (Z_n = 1, X_{n+1} = 0, \dots, X_{n+k} = 0) \\
 &= (X_n = 0, X_{n+1} = 0, \dots, X_{n+k} = 0).
 \end{aligned}$$

So,

$$P(Z_{n+1} = 0/B_n) = P(Z_{n+1} = 0/Z_n = 1).$$

Finally:

$$\begin{aligned} P(Z_{n+1} = 1/B_n) &= 1 - P(Z_{n+1} = 0/B_n) \\ &= 1 - P(Z_{n+1} = 0/Z_n = 1) \\ &= P(Z_{n+1} = 1/Z_n = 1). \end{aligned}$$

We conclude that $(Z_n)_{n \geq 1}$ is a Markov chain.

Now, To compute the reliability of the consecutive- k -out-of- n system, we must compute the transition probabilities from the state i (at the time n) to the state j (at the time $n + 1$) where i and $j \in \{0, 1\}$. For this end, let $\Pi(l, m) = P(Z_{n+1} = j / Z_n = i)$ where $i, j, l, m \in \{0, 1\}$.

Computation of the transition probabilities. We have:

$$\begin{aligned} \Pi(0, 0) &= \frac{P(Z_{n+1} = 0, Z_n = 0)}{P(Z_n = 0)} \\ &= \frac{P(Z_{n+1} = 0, Z_n = 0, X_n = 0)}{P(Z_n = 0)} + \frac{P(Z_{n+1} = 0, Z_n = 0, X_n = 1)}{P(Z_n = 0)} \\ &= \frac{P(Z_{n+1} = 0/Z_n = 0, X_n = 0)}{P(X_n = 0)} \times \frac{P(Z_n = 0/X_n = 0)P(X_n = 0)}{P(X_n = 0)} \\ &= q, \end{aligned}$$

and

$$\begin{aligned} \Pi(0, 1) &= P(Z_{n+1} = 1/Z_n = 0) \\ &= 1 - P(Z_{n+1} = 0/Z_n = 0) \\ &= 1 - q. \end{aligned}$$

In the other hand, we have:

$$\begin{aligned}
 \Pi(1, 0) &= P(Z_{n+1} = 0/Z_n = 1) \\
 &= \frac{P(Z_{n+1} = 0, Z_n = 1)}{P(Z_n = 1)} \\
 &= \frac{P(Z_{n+1} = 0, Z_n = 1, X_n = 0)}{P(Z_n = 1)} + \frac{P(Z_{n+1} = 0, Z_n = 1, X_n = 1)}{P(Z_n = 1)} \\
 &= \frac{P(Z_{n+1} = 0/Z_n = 1, X_n = 1)}{P(Z_n = 1)} \times \frac{P(Z_n = 1/X_n = 1)P(X_n = 1)}{P(Z_n = 1)} \\
 &= \frac{q^k(1 - q)}{1 - q^k}.
 \end{aligned}$$

and finally:

$$\begin{aligned}
 \Pi(1, 1) &= P(Z_{n+1} = 1/Z_n = 1) \\
 &= 1 - P(Z_{n+1} = 0/Z_n = 1) \\
 &= 1 - \Pi(1, 0) \\
 &= 1 - \frac{q^k(1 - q)}{1 - q^k}.
 \end{aligned}$$

Now, we can establish a computing formula of the system reliability.

Theorem 2. *The reliability of the “consecutive k-out-of-n” system is given by*

$$R = (1 - q^k) \left[1 - \frac{q^k(1 - q)}{1 - q^k} \right]^{n-k}.$$

Proof. With $S_n = Z_1 \cdot Z_2 \dots Z_{n-k} \cdot Z_{n-k+1}$ We have $R = P(S_n = 1)$. Then,

$$\begin{aligned}
 P(S_n = 1) &= P(Z_1 \cdot Z_2 \dots Z_{n-k} \cdot Z_{n-k+1} = 1) \\
 &= P(Z_1 = 1, Z_2 = 1, \dots, Z_{n-k+1} = 1) \\
 &= P(Z_{n-k+1} = 1/Z_1 = 1, \dots, Z_{n-k} = 1) \\
 &\quad \times P(Z_{n-k} = 1/Z_1 = 1, \dots, Z_{n-k-1} = 1) \\
 &\quad \times \dots \times P(Z_2 = 1/Z_1 = 1) \times P(Z_1 = 1).
 \end{aligned}$$

Since, $(Z_i)_{i \geq 1}$ is a Markov chain, we conclude that:

$$\begin{aligned} P(S_n = 1) &= P(Z_{n-k+1} = 1/Z_{n-k} = 1) \\ &\quad \times P(Z_{n-k} = 1/Z_{n-k-1} = 1) \\ &\quad \times \cdots \times P(Z_2 = 1/Z_1 = 1) \cdot P(Z_1 = 1) \end{aligned}$$

and

$$\begin{aligned} R &= P(S_n = 1) \\ &= \Pi(1, 1) \times \cdots \times \Pi(1, 1) \cdot P(Z_1 = 1) \\ &= [\Pi(1, 1)]^{n-k} [1 - P(Z_1 = 0)] \\ &= \left[1 - \frac{q^k(1-q)}{1-q^k} \right]^{n-k} (1 - q^k). \end{aligned}$$

Likelihood Estimator of R . We estimate R with two methods. We set $R_1 = R$ in the first method and $R_2 = R$ in the second. \widehat{R}_1 and \widehat{R}_2 denote the estimators of R_1 and R_2 respectively.

First method: Consider a system with n components X_1, X_2, \dots, X_n such that:

$$P(X_i = 1) = p \quad \text{and} \quad P(X_i = 0) = q.$$

Then,

$$P(X_1 = x_1, \dots, X_n = x_n) = \prod_{i=1}^{i=n} (X_i = x_i) = p^{\sum_{i=1}^n x_i} (1-p)^{\sum_{i=1}^n (1-x_i)}.$$

where $x_i \in \{0, 1\}$.

The probabilities p and q are estimated by the maximum likelihood method:

$$\begin{aligned} L(x_1, \dots, x_n, p) &= P(X_1 = x_1, \dots, X_n = x_n) \\ &= p^{\sum_{i=1}^n x_i} (1-p)^{\sum_{i=1}^n (1-x_i)} \\ \frac{\partial \ln L(x_1, \dots, x_n, p)}{\partial p} &= \frac{\partial \ln L(x_1, \dots, x_n, p)}{\partial p}. \end{aligned}$$

Then,

$$\frac{\partial \ln L(x_1, \dots, x_n, p)}{\partial p} = \sum_{i=1}^n x_i \frac{1}{p} - \sum_{i=1}^n (1 - x_i) \frac{1}{1 - p} = 0.$$

Then,

$$\widehat{p} = \frac{\sum_{i=1}^n x_i}{n} \quad \text{and} \quad \widehat{q} = \frac{\sum_{i=1}^n (1 - x_i)}{n}.$$

Consequently:

$$\widehat{R}_1 = (1 - \widehat{q}^k) \left[1 - \frac{\widehat{q}^k (1 - \widehat{q})}{1 - \widehat{q}^k} \right]^{n-k}.$$

Second method: We consider

$$Z_i = \max_{1 \leq j \leq i+k-1} X_j, \quad i = 1, 2, \dots, n - k + 1.$$

and we put:

$$A_{n-k+1} = Z_1 = z_1, \dots, Z_{n-k+1} = z_{n-k+1}.$$

Then

$$\begin{aligned} P(A_{n-k+1}) &= P(Z_{n-k+1} = z_{n-k+1} / A_{n-k}) \\ &= P(Z_{n-k} = z_{n-k} / A_{n-k-1}) \times \dots \times P(Z_2 = z_2 / Z_1) \times P(Z_1). \end{aligned}$$

We have already proved that $(Z_n)_{n \geq 1}$ is a Markov chain, therefore, we deduce that:

$$\begin{aligned} P(A_{n-k+1}) &= P(Z_{n-k+1} = z_{n-k+1} / Z_{n-k} = z_{n-k}). \\ P(Z_{n-k} = z_{n-k} / Z_{n-k-1} = z_{n-k-1}) &\times \dots \times P(Z_2 = z_2 / Z_1 = z_1). P(Z_1 = z_1). \end{aligned}$$

We set:

$$\begin{aligned} \Pi(0, 0) &= P(Z_{n+1} = 0 / Z_n = 0) = \alpha, \\ \Pi(1, 1) &= P(Z_{n+1} = 0 / Z_n = 1) = \beta, \end{aligned}$$

so,

$$\Pi(0, 1) = 1 - \alpha \quad \text{and} \quad \Pi(1, 0) = 1 - \beta.$$

The precedent expression can be written as:

$$P(Z_1 = z_1, Z_2 = z_2, \dots, Z_{n-k+1} = z_{n-k+1}) = P(Z_1 = z_1) \cdot \alpha^{n_{0,0}} (1 - \alpha)^{n_{0,1}} \cdot \beta^{n_{1,1}} (1 - \beta)^{n_{1,0}},$$

where, for $i = 1, \dots, n - k + 1$:

$$\begin{aligned} n_{0,0} &= \text{Card} \{i : Z_i = 0 \text{ and } Z_{i+1} = 0\} \\ n_{0,1} &= \text{Card} \{i : Z_i = 0 \text{ and } Z_{i+1} = 1\} \\ n_{1,1} &= \text{Card} \{i : Z_i = 1 \text{ and } Z_{i+1} = 1\} \\ n_{1,0} &= \text{Card} \{i : Z_i = 1 \text{ and } Z_{i+1} = 0\}. \end{aligned}$$

The estimators likelihood of the parameters α and β are:

$$\widehat{\alpha} = \frac{n_{0,0}}{n_{0,0} + n_{0,1}} \quad \text{and} \quad \widehat{\beta} = \frac{n_{1,1}}{n_{1,0} + n_{1,1}}.$$

Since,

$$\begin{aligned} P(S_n = 1) &= P(Z_{n-k+1} = 1/Z_{n-k} = 1) \times P(Z_{n-k} = 1/Z_{n-k-1} = 1) \\ &\quad \times \dots \times P(Z_2 = 1/Z_1 = 1) \cdot P(Z_1 = 1). \end{aligned}$$

Then the reliability of the system is:

$$\begin{aligned} R_2 &= P(S_n = 1) \\ &= \Pi(1, 1) \times \dots \times \Pi(1, 1) \cdot P(Z_1 = 1) \\ &= [\Pi(1, 1)]^{n-k} \cdot [1 - P(Z_1 = 0)] \end{aligned}$$

It is not difficult to derive:

$$\Pi(1, 0) = \frac{q^k(1 - q)}{1 - q^k} \quad \text{and} \quad 1 - \beta = \frac{q^k(1 - q)}{1 - q^k}.$$

After elementary calculus we obtain:

$$q^k = \frac{1 - \beta}{2 - \alpha - \beta}.$$

Then,

$$R_2 = \beta^{n-k} \left(\frac{1 - \alpha}{2 - \alpha - \beta} \right).$$

Finally, the estimator of R_2 is:

$$\widehat{R}_2 = \widehat{\beta}^{n-k} \left(\frac{1 - \widehat{\alpha}}{2 - \widehat{\alpha} - \widehat{\beta}} \right)$$

4. Numerical applications We propose some numerical examples.

Example 1. Consider the system with 15 components with states given by: 111001000011000. After some computation, we obtain:

n	k	\widehat{q}	$\widehat{\alpha}$	$\widehat{\beta}$	\widehat{R}_1	\widehat{R}_2
15	2	0.6	0.6	0.625	0.0232	0.0011
15	3	0.6	0.5	0.8181	0.1931	0.0659
15	4	0.6	0	0.9	0.4429	0.2852
15	5	0.6	0	1	0.6544	1
15	6	0.6	0	1	0.7979	1

Example 2. Consider the system with 20 components with states given by: 00011011100000100001. After some computations, we obtain:

n	k	\widehat{q}	$\widehat{\alpha}$	$\widehat{\beta}$	\widehat{R}_1	\widehat{R}_2
20	2	0.65	0.6666	0.7777	0.0028	0.0065
20	3	0.65	0.5	0.8181	0.0647	0.0241
20	4	0.65	0.3333	0.8461	0.2317	0.0561
20	5	0.65	0	0.9333	0.4365	0.3330
20	6	0.65	0	1	0.6163	1

Example 3. Consider the system with 30 components with states disposed as bellow : 100000011001000111100011001111. After some computations,

we obtain the numerical values:

n	k	\widehat{q}	$\widehat{\alpha}$	$\widehat{\beta}$	\widehat{R}_1	\widehat{R}_2
30	2	0.5333	0.5454	0.7058	0.0001	$3.5E - 05$
30	3	0.5333	0.5	0.8571	0.0275	0.012
30	4	0.5333	0.6666	0.9565	0.1907	0.2784
30	5	0.5333	0.5	0.9583	0.4460	0.3185
30	6	0.5333	0	0.9565	0.6681	0.3297
30	7	0.5333	0	1	0.8157	1

5. Conclusion. In these numerical examples, we notice the difference between the estimators \widehat{R}_1 and \widehat{R}_2 . We believe that the second method is better than the first to estimate the reliability (R) of the consecutive k -out-of- n system. Since, in the first method, to estimate R it's necessary to estimate q then to calculate q^k . In the second, we use directly $\widehat{\beta}$ (not depending to \widehat{q} and \widehat{q}^k) to estimate the reliability of the system. Then this method permits to avoid the accumulated errors owed to the power.

REFERENCES

- [1] G. ARULMOZHI. Exact equation and an algorithm for reliability evaluation of k -out-of- n : G system. *Reliability, Engineering and System Safety* **68** (2002), 87–91.
- [2] E. R. CANFIELD, W. P. MCCORMIK. Asymptotic reliability of consecutive- k -out-of- n systems. *J. Appl. Prob.* **29** (1992), 142–155.
- [3] R. C. BOLLIGER. Direct computation for consecutive k -out-of- n : F system. *IEEE Trans. Reliab.* **R-31**, 5 (1982), 444–446.
- [4] C. DERMAN, J. LIEBERMAN, S. ROSS. On the consecutive k -out-of- n : F system. *IEEE Trans. Reliab.* **R-31**, 1 (1982) 57–63.
- [5] J. C. FU. Bounds for reliability of large consecutive- k -out-of- n : F systems with unequal component reliability. *IEEE Trans. Reliab.* **R-35**, 3 (1986), 316–319.

- [6] M. LAMBIRIS, S. PAPASTAVRIDIS. Exact reliability formulas for linear and circular consecutive- k -out-of- n : F systems. *IEEE Trans. Reliab.* **R-34**, 2 (1985) 124–126.
- [7] B. KSIR. A Weibull limit law for an arbitrary component law of a consecutive- k -out-of- n : F System. 2nd International Symposium On Semi-Markov Models: Theory and Application. December 1998, Compiègne, France, 9–11.
- [8] B. KSIR, N. GHORAF. A Weibull limit law for the failure time of consecutive- k -out-of- n system with unequal component reliability. ISSAT International Conference. Las-Vegas, USA, Aug. 1999, 11–13.
- [9] J. MALINOWSKI, W. PREUSS. Reliability increase of consecutive k -out-of- n : F and related system through components rearrangement. *Microelectron. Reliab.* **36**, 10 (1996), 1417–1423.
- [10] W. KUO, W. ZHANG, M. ZUO. A consecutive- k -out-of- n : G system: the mirror image of a consecutive- k -out-of- n : F system. *IEEE Trans. Reliab.* **39**, 2 (1990) 244–253.
- [11] D. T. Chiang and S.-C. Nui. Reliability of consecutive- k -out-of- n : F system. *IEEE Trans. Reliab.* **R-30**, 1 (1981) 87–89.
- [12] W. WANG, J. LOMAN. Reliability/availability of k -out-of- n system with M Cold standby units. Proceeding annual Reliability and Maintainability Symposium, IEEE Proceedings Annual 2002, 450–455.
- [13] G. Ge, L. Wang. Exact reliability formula for consecutive- k -out-of- n : F systems with homogenous Markov dependence. *IEEE Trans. Reliab.* **R-39**, 5 (1990) 600–602.

Brahim Ksir

Department of Mathematics

Constantine University, Algeria

e-mail: ksirbrahim@yahoo.com

Slimane Bouhadjar

Department of Mathematics

Guelma University, Algeria

e-mail: s.bouhadjar@yahoo.fr

Received June 27, 2012